	No
	Atom Type
	Neighbours
	Meaning
	Example

	1
	B(-)
	C4
	
	B- in tetracyanoborate

	2
	B(-)
	CF3
	CBF3-
	alkyltrifluoroborate

	3
	B(-)
	F4
	BF4-
	tetrafluoroborate

	4
	C sp3
	H3B(-)
	H3CB-
	C in methyltrifluoroborate

	5
	C(-) sp3
	C3
	
	central C- in tricyanocarbeniate

	6
	C aromatic
	H:C:N(+)
	C:CH:N+
	C2 in pyridinium

	7
	C(+) aromatic
	C:N2
	N:C+(C):N
	C2 in 2-alkylimidazolium

	8
	C sp
	C#N(-)
	C-(C#N)
	cyano-C in tricyanocarbeniate

	9
	C sp
	N#N(-)
	N-(C#N)
	C in dicyanoamide

	10
	C sp
	B#N(-)
	B-(C#N)
	C in tetracyanoborate

	11
	C sp
	=N=S(-)
	N=C=S-
	thiocyanate

	12
	N(+) sp3
	C4
	N+C4
	tetraalkylammonium

	13
	N(+) sp2
	O2=O(-)
	NO3-
	nitrate

	14
	N aromatic
	C2:C(+)
	C-N(C):C+
	N1 in 1-alkylimidazolium

	15
	N(+) aromatic
	C:C2
	C:N+(C):C
	N in 1-alkylpyridinium

	16
	N(-)
	C2
	C-N--C
	N- in dicyanoamide

	17
	N(-)
	S2
	S-N--S
	bis(trifluoromethanesulfonyl)amide

	18
	P4
	CO2=O(-)
	CPO3-
	alkylphosphonate

	19
	P4
	O3=O(-)
	O=PO3-
	dialkylphosphate

	20
	P(+)
	C4
	PC4+
	tetraalkylphosphonium

	21
	P(-)
	C3F3
	F3P-C3
	tris(pentafluoroethyl)trifluorophosphate

	22
	P(-)
	F6
	PF6-
	hexafluorophosphate

	23
	S4
	CO=O2(-)
	C-SO3-
	alkylsulfonate

	24
	S4
	O2=O2(-)
	SO4-
	alkylsulfate


